
Y2 – Autumn – Block 2 – Step 15 – Add two 2-digit numbers (not across a 10) Answers

QuesAon Answer

1

3 ones + 1 one = 4 ones
There are 4 ones altogether.
4 tens + 2 tens = 6 tens
There are 6 tens altogether.
43 + 21 = 64

2

a) 9
b) 40
c) 34
d) 49
e) 49
f) 74

3

a) 35
b) 43
c) 35 + 43 = 78

4 65

5
a) Ann has 25 sweets.
b) They have 36 sweets altogether.

6
4 tens and 3 ones
33 + 43 = 76

7

two digits that sum to 6, e.g. 42 + 23 = 65
Children may have different answers. 
Possible answers:
12 + 53, 22 + 43, 32 + 33, 42 + 23, 52 + 13

8
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c)
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